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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and III of each of the five classes (15 to sth year) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Based on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%) of Students

1

A 8-%
3

B 10%

& 20%
2

D 16—%
3

E 30%

F 13%

Table-2 Class-wise & Section-wise distribution (%o) of Students for College D

Class Section
I I il
1% Year 30% 35% 33%
299 Year 50% 25% 25%
3% Year 20% 35% 25%
4t Year 45% 35% 20%
5t Year 35% 30% 33%

b

Fafafaa arfeet - 1 9 uiaada greawy ard ot - ot aerfeemedl (a-p)d sremmRa faenfifal
1 wiard faaRor e=ifar mar § SR diferl-2 § geifaemed D &1 uig senst (ud ¥ uied 9v) § ¥ vde
& o 1 ST L 11 9 101 Ser=Ra (et 1 s &1 ufo=rd faavor axiar T § | Helideed C
¥ fermRd faenidl @1 o T@a 1080 § SR He1faee™ D &1 Udid da 1 faeniial o ve us 90
® | Aifcrerafl § v sidhs! & MR IR WY B FTR aifold :

iferet -1 faenfiat &1 gerfaeem ar faao

faenfeat o1 faazo
(%)
A 8l
3
B 10%
¢ 20%
>
D 16=%
3
E 30%
F 15%
fcrl-2 - TeTdened D & fqenfifal &1 $&1-aR G S uFT ar (%) faa=o
BEfl JFHTT
i I m
T2 gy 30% 35% 35%
fedmad 50% 25% 25%
qagay | 20% 55% 25%
Fiay | 45% 35% 20%
ogq 94 35% 30% 35%




If Section-II in College B's pnd vear class and Section-I in College D's 31 year class have the same number of

- ond

students, then the ratio of the number of students in Section-II in College B's 2"° year class to that of Section-

III in College D's sth year class is

2:3
5:7

B
(¥

.47
(1) 1
(2) 2
3) 3
(4) 4

g1 HRTfaeed B &1 fadi a8 S & MR- 3R TEIGed D 31 quiid a9 &l & HTUF-1 §
farenal 51 e ue S €, dl HeTiaanerd B & fgdid oy dafl & SiurT-ir H faanidal ot e o
UBIaeed D &1 U9y oy S & SHF-I | [Genfigl @i g & ur Fafiiad o 9 &1F 9 sud 6 2

o
5
N6
.47
1) 1
() 2
(3) 3
4) 4
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1[Option ID=42101] Question Description : general_paper_genarel paper_set 27_english_q1
2[Option ID=42102]
3[Option ID=42103]
4[Option ID=42104]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and III of each of the five classes (15 to sth vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Bazed on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%) of Students

1

A 8-%
3

B 10%

& 20%
2

D 16—%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
1 1 il
1% Year 30% 33% 35%
294 Year 50% 25% 23%
3 Year 20% 559 25%
At Year 45% 35% 20%
5t Year 35% 30% 35%

b

e aifet - 1 § ui=adia greuwma ara B8 fia-fis &t seifesmeadl (a-p)d sremRa faenfifal
D1 Ui fGaRur exiiar 71 § iR diferel-2 3 Heifaened D & uid wensit (Wyd 9 Uidd ay) & 9 Udd
& ot fiye ST 1, 11 9 111 & Sfea-Rd faential &1 e &1 ufasrd faazor geifan 1 g | gelfdeed ¢
H SR faanfial #1 oo T 1080 B SR Teifaeied D 31 ide Ha1 1 Aol ot Sen ue gur
B | aifcrprall § Wed sfids! & YR TR UY $I IR gl :

anferest -1 faenfial @ wefaeray ar fagwo

faenferaf @1 fgawm
gelfaerag
(%)
1
A $=%
3
B 10%
C 20%
2
D 16=9%
3
E 30%
F 15%

dIfe®1-2 : Aglidared D T faeniial &1 $&1-aR g U ar (%) famo

e SFHTT

I 11 I
oH gy 30% 35% 35%
feagay 50% 25% 23%
gagay | 20% 55% 25%
=gy au 45% 35% 20%
ogq 94 35% 30% 35%

What is the total number of students in Section-I of all classes in College D?

320
324
. 250
252
1) 1
(2) 2
(3) 3

e

N




(4) 4

TETiaeier D &1 Gt Sefsfl & srunL1 4 faential &t oa W@ a8 2
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J
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(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42105]
2[Option ID=42106]

3[Option ID=42107]
4[Option ID=42108]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and III of each of the five classes (15 to sth vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Bazed on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%) of Students

1

A 8-%
3

B 10%

& 20%
2

D 16—%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
1 1 il
1% Year 30% 33% 35%
294 Year 50% 25% 23%
3 Year 20% 559 25%
At Year 45% 35% 20%
5t Year 35% 30% 35%

b

e aifet - 1 § ui=adia greuwma ara B8 fia-fis &t seifesmeadl (a-p)d sremRa faenfifal
D1 Ui fGaRur exiiar 71 § iR diferel-2 3 Heifaened D & uid wensit (Wyd 9 Uidd ay) & 9 Udd
& ot fiye ST 1, 11 9 111 & Sfea-Rd faential &1 e &1 ufasrd faazor geifan 1 g | gelfdeed ¢
H SR faanfial #1 oo T 1080 B SR Teifaeied D 31 ide Ha1 1 Aol ot Sen ue gur
B | aifcrprall § Wed sfids! & YR TR UY $I IR gl :

anferest -1 faenfial @ wefaeray ar fagwo

faenferaf @1 fgawm
gelfaerag
(%)
1
A $=%
3
B 10%
C 20%
2
D 16=9%
3
E 30%
F 15%

dIfe®1-2 : Aglidared D T faeniial &1 $&1-aR g U ar (%) famo

WET FHTHTT
I 11 11
yuH ay 30% 35% 35%
fTdmad |  s0% 25% 25%
gagay | 20% 55% 25%
=gy au 45% 35% 20%
PECEL] 35% 30% 35%
The number of students in Section-111 of 4th year class in College Dis % of the total number of

students in College A.

R
= oo On LA

(1) 1
) 2




3) 3
4) 4

Telfaeed D H 9qd a¥ & sFyrL-In  faentdal ot we aeraenay A § faenidal @1 oo e &1
fra mfaRra 8 2

R
— oh Ch L

:.10

1) 1

(2) 2

3) 3

4) 4

1[Option ID=42109] Question Description : general_paper_genarel paper_set 27_english_q3
2[Option ID=42110]

3[Option ID=42111]
4[Option ID=42112]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and III of each of the five classes (15 to sth vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Bazed on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%) of Students

1

A 8-%
3

B 10%

& 20%
2

D 16—%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
1 1 il
1% Year 30% 33% 35%
294 Year 50% 25% 23%
3 Year 20% 559 25%
At Year 45% 35% 20%
5t Year 35% 30% 35%

b

e aifet - 1 § ui=adia greuwma ara B8 fia-fis &t seifesmeadl (a-p)d sremRa faenfifal
D1 Ui fGaRur exiiar 71 § iR diferel-2 3 Heifaened D & uid wensit (Wyd 9 Uidd ay) & 9 Udd
& ot fiye ST 1, 11 9 111 & Sfea-Rd faential &1 e &1 ufasrd faazor geifan 1 g | gelfdeed ¢
H SR faanfial #1 oo T 1080 B SR Teifaeied D 31 ide Ha1 1 Aol ot Sen ue gur
B | aifcrprall § Wed sfids! & YR TR UY $I IR gl :

anferest -1 faenfial @ wefaeray ar fagwo

TaepTieiat @ faawu
(%)
A 8lo
3
B 10%
C 20%
2
D 16=%
3
E 30%
F 15%
dIfe®1-2 : Aglidared D T faeniial &1 $&1-aR g U ar (%) famo
BET AT
I 11 I
yuH ay 30% 35% 35%
fedlgad | s0% 25% 25%
gagay | 20% 55% 25%
=gy au 45% 35% 20%
PECEL] 35% 30% 35%

If 20% of the students in College A move to College D and are equally distributed in each class, then what is
the number of students in Section-II of College E's 31d year class?

1.36

2.45

3.72

4, Cannot be determined
(1) 1

(2) 2




(3) 3
(4) 4

afe, geifgeray A & 20% faenff werfeared p & 90 9 § 3R Ude Sa1 1 361 99 faao fean
STl &, Herfaead B 3 qofia af wan & smum o H faenfif ot <iem fat et o

S [ S FE
rJ th Oy

g st awdie |
M 1
(2) 2
(3) 3
(4) 4
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1[Option ID=42113] Question Description : general_paper_genarel paper_set 27_english_q4
2[Option ID=42114]
3[Option ID=42115]
4[Option ID=42116]
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The following table-1 shows the percentage distribution of the number of students studying in six different
Law Colleges (A-F) offering a 5-year course and table-2 shows the percentage distribution of the number of
students studying in three different Sections I, IT and III of each of the five classes (15 to sth vear) for college
D. There is a total of 1080 students studying in College C and each class of College D has the same number of
students. Bazed on the data in the tables, answer the question :

Table-1 : Collage-wise Distribution of Students

College Distribution (%) of Students

1

A 8-%
3

B 10%

& 20%
2

D 16—%
3

E 30%

F 15%

Table-2 Class-wise & Section-wise distribution (%) of Students for College D

Class Section
1 1 il
1% Year 30% 33% 35%
294 Year 50% 25% 23%
3 Year 20% 559 25%
At Year 45% 35% 20%
5t Year 35% 30% 35%

b

e aifet - 1 § ui=adia greuwma ara B8 fia-fis &t seifesmeadl (a-p)d sremRa faenfifal
D1 Ui fGaRur exiiar 71 § iR diferel-2 3 Heifaened D & uid wensit (Wyd 9 Uidd ay) & 9 Udd
& ot fiye ST 1, 11 9 111 & Sfea-Rd faential &1 e &1 ufasrd faazor geifan 1 g | gelfdeed ¢
H SR faanfial #1 oo T 1080 B SR Teifaeied D 31 ide Ha1 1 Aol ot Sen ue gur
B | aifcrprall § Wed sfids! & YR TR UY $I IR gl :

anferest -1 faenfial @ wefaeray ar fagwo

faenferaf @1 fgawm
gelfaerag
(%)
1
A $=%
3
B 10%
C 20%
2
D 16=9%
3
E 30%
F 15%

dIfe®1-2 : Aglidared D T faeniial &1 $&1-aR g U ar (%) famo

e SFHTT

I 11 I
oH gy 30% 35% 35%
feagay 50% 25% 23%
gagay | 20% 55% 25%
=gy au 45% 35% 20%
ogq 94 35% 30% 35%

What is the difference between the number of students in College C and in Section-III across all classes in
College D?

1. 828
2. 830
3. 838
4,756
1)1
(2) 2




3) 3
(4) 4

Teliaeed ¢ H [qenfial @1 e Sk Heriaerad D &1 9 deisil & oy -1 4 fqefifdl @1 dem &
o fpaT IR 2

. 828
. 830
. 838

756

R

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42117] Question Description : general_paper_genarel paper_set 27_english_q5
2[Option ID=42118]

3[Option ID=42119]
4[Option ID=42120]

Sl. No.6
QBID:27201006

In Bloom's taxonomy of learning objectives, which of the following categories come under affective domain ?

. Receiving

. Responding
. Analysis

. Organization
. Application

Mmoo we

Choose the most appropriate answer from the options given below:;

1.B.Cand E only
2. Aand D only
3.A,BandD only
4. A B, CandE only
1)1
(2) 2
3) 3
(4) 4

S0 & HfeTH IeRdl & il H, fafeEa § 3 & F d Ai0at yiawRe 89 & sidid s § 2

AU AT
B. UgTR &1
c. fa=eiyo
D. ¥7T3

E. 30N
1< AT 7T fd et & a9 IUged IR DI F0 HIforg:

1. $adB, C ARE
2.%ad A ARD

3. HAAA. B ARD
4. AT A, B, C ARE

(1)1
) 2
3) 3
(4) 4

1[Option ID=42121] Question Description : general_paper_genarel paper_set 27_english_q6
2[Option ID=42122]
3[Option ID=42123]
4[Option ID=42124]
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Given below are two statements:
Statement I : The channels of SWAYAM PRABHA are uplinked from BISAG, Hyderabad.

Statement IT : SWAYAM PRABHA is an education learning platform available 24x7 through 37 DTH
channels.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4, Statement I 1s false but Statement IT is true.

(1)1

(2) 2

(3) 3

(4) 4

B EAIECR e

FYA 1 : WHUH & 97d [G91T (BISAG), TEXIEIE 4 9 (3HUcids) §US |
BUT 11 : TWUUHT 37 S 1 T Sdll gRT 247 ST U Ufad e WewE ¢ |
IWRIad HY D 3D 4, 3 G T fddbedi T T8l SR 31 99 Pifoig:

FYHFIARN G 9IS |

HYF IR 1A S |

FYF IS, AfPTHYT I T |
FHUFI IS, AT YA IR |
1) 1

(2) 2

3) 3

(4) 4

R S

1[Option ID=42125] Question Description : general_paper_genarel paper_set 27_english_q7
2[Option ID=42126]
3[Option ID=42127]
4[Option ID=42128]

Sl. No.8
QBID:27201008

Which of the following are the Intellectual characteristics of Adolescents?

A, Variations in emotional moods.

B. Development of imagination.

C. Increase in span of attention.

D. Increase in pulse rate.

E. Development of thinking and reasoning.

Choose the most appropriate answer from the options given below:

Aand D only

A, B, Cand D only
3.B. Cand E only
4. A C.,DandE only

11

(2) 2

3) 3

(4) 4

[




fPRIRT & difg® siftmau FEEa 4P a8 2

A, YaTdD TGN 9aad
B. B BT fdh1g
C. T $5UT - 3fafe | gig
D. W R GG
E. a1 ud adn &1 flaeg
i fGU T 9 et O 9§ 9a8 Iugad Stk &1 94 Hifoll :

1.%ad A 3R D
2. %AAA, B, C 3R D
3.%ddB, C IR E
4. HAAA, C.D IRE
1
() 2
(3) 3
(4) 4

1[Option ID=42129] Question Description : general_paper_genarel paper_set 27_english_q8
2[Option ID=42130]
3[Option ID=42131]
4[Option ID=42132]

Sl. No.9
QBID:27201009

A learner learns to bake a cake in school. He/she applies the knowledge to bake the cake at home. It is a type
of of learning.

1. Horizontal transfer
2. Vertical transfer
3. Zero transfer
4. Negative transfer
(1)1
(2) 2
3) 3
(4) 4

U YT [qererd § 9o S ST ¢ | 98 R IR e & @ 31 1 AN Bl ©§ | U8 ey
YHR 9 AT BT YHR 3 2

1. e Sfavor
2. FHHER SR
3. R 3RO
4. BUMTHSD HR0T
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42133] Question Description : general_paper_genarel paper_set 27_english_q9
2[Option ID=42134]

3[Option ID=42135]
4[Option ID=42136]

Sl. No.10
QBID:27201010

A teacher can enjoy teaching as a profession when he/she

1. secks respect from students.
2. ensures strict discipline in the class,
3. has better qualification than his/'her colleagues.
4. 1s close to the Principal or Vice Chancellor.
1) 1
(2) 2
(3) 3
(4) 4




BI5, & TP gRI (W) & T J 101 &1 31 o 9obdl o, 919 d8 -

1. Taenfifal & g urd S Ieale |
2. &/ H HOR I AT B¢ |
3. A9 Yol 9 sea audT I@dl & |
4. UTEIR 1 Herdid 1 al gial @ |

1) 1

) 2

(3) 3

(4) 4

1[Option ID=42137] Question Description : general_paper_genarel paper_set 27_english_q10
2[Option ID=42138]
3[Option ID=42139]
4[Option ID=42140]

Sl. No.11
QBID:27201011

Sets of principles that deseribe and predict events are known as:

1. Hypotheses
2. Concepts
3. Analyses

4. Theories
(1) 1

(2) 2

3) 3

4) 4

ge13f BT Ui 3R 371 JaiaH S ard Risidl & S=di ! g =9 T &1 &Il © 2

BTy
. JTYRUMT
ICEGELEL]
IRES]

R

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=42141] Question Description : general_paper_genarel paper_set 27_english_q11
2[Option ID=42142]

3[Option ID=42143]
4[Option ID=42144]

Sl. No.12
QBID:27201012

Interpretation of findings is a collaborative activity of both participants and researcher in

1. Case studies
2. Applied research
3. Textual analysis
4. Phenomenology
(1) 1
(2) 2
(3) 3
(4) 4

st ot ouren farg & ufqwifimal SiR wivesdl g1 &1 Yguias fharsand g 2

. TPRUT ST (HY Telo)
. STV Y

W UTe-favae fa=eiwur (Coag 3 TIerm)

4. °el - fobal - fagiA

1) 1

) 2

(3) 3

@) a

1
2z
3

1[Option ID=42145] Question Description : general_paper_genarel paper_set 27_english_q12
2[Option ID=42146]
3[Option ID=42147]

4[Option ID=42148]
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The ethnographic research is mostly conducted in:

. Simulated environment

. Natural environment
3. Virtual environment only
4. Artificial environment

1) 1

(2) 2

(3) 3

(4) 4

e O O e sifeiRrar Joifd - qui= Sal =Ny D1 riford a1 S s 2
1. 3I=T0d araraRol

2. WY1 aIaraRor
3. Had SATHTE] ardaRul
4. AT ATAERT

1) 1

(2) 2

(3) 3

(4) 4

ko =

1[Option ID=42149] Question Description : general_paper_genarel paper_set 27_english_q13
2[Option ID=42150]
3[Option ID=42151]
4[Option ID=42152]

Sl. No.14
QBID:27201014

Which of the following are the characteristics of ratio level data ?

A. Unequal spacing

B. Negative scores

C. Equal spacing

D. Increasing or decreasing order
E. Absolute zero point

Choose the correct answer from the options given below:

A, Band C only

.B. C and D only
3.C.Dand E only
4. A, B and E only

1) 1

2) 2

3) 3

(4) 4

ST &R & &d B (rarad 3§ 9 S o fa¥van g 2

A, 3HHE e

B. SBUTES Wi (FPIR)

C. JU R

D. S¢dl gl uedl &

E. FRUer g fag (Usdiege SR Uige)

14 feu Tt faedl § 9 9l 37R BT 99 DI .

1.®AdA A, B, C
2.%ddB,C,D
3.%dd C,D,E
4. PAAA, B, E

1) 1

) 2

(3) 3

(4) 4

ko=

1[Option ID=42153] Question Description : general_paper_genarel paper_set 27_english_q14
2[Option ID=42154]




3[Option ID=42155]
4[Option ID=42156]

Sl. No.15
QBID:27201015

Given below are two statements :

Statement I : Operational definitions are used to get the meaning of abstract concepts.

Statement IT : Operational definitions do not define how a variable is measured.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement II 1s incorrect.
4. Statement I is incorrect but Statement I 1s correct.

1 1
(2) 2
(3) 3
(4) 4

TR FyE R E:

FYTI : 3 SAYRYN & 37 U DA & T8 JaTe=1a GRUTHISHT &1 Tgad [bar sl g |
HYF 11 : AT ORUTEE 59 aR 5 RIS i el & [ 38 1@ R P19 Far onar g |
IRIF FYH & ATl 1, 39 QU Y fdhed] H Tl IR 1 99 Pieig:

HYHFIARN G A |

P I AR I T 3T |

U I IO L, APT S 1 3I® |
HYTI HTT R, AP DU I IR |
) 1

() 2

(3) 3

4) 4

O

1[Option ID=42157] Question Description : general_paper_genarel paper_set 27_english_q15
2[Option ID=42158]
3[Option ID=42159]
4[Option ID=42160]

Sl. No.16
QBID:27201016

The first media age was related to

1. Oral communication
2. Inscription on stones
3. Print publications
4. Broadcast media

1 1

) 2

3) 3

(4) 4

yyH Hifsar g Fafafad & 9 fead efd ur 2

1. Hifge Gy
2. Ryemci
3. gfd U
4. yHRU Hifsar
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42161] Question Description : general_paper_genarel paper_set 27_english_q16
2[Option ID=42162]

3[Option ID=42163]
4[Option ID=42164]

Sl. No.17
QBID:27201017




Modern communication technology like the Internet has resulted in :

1. Community media culture
2. National media culture

3. Personalized media culture
4. Rural media culture

(1)1

(2) 2

(3) 3

(4) 4

Sex-e ol Sy AR Uieifiie! & gRumasy Hafiad 3 9 e R gsng

A Hifsa Tepfd
. Hifsar Gwpfa
. T HifSar Tepfd
gt Hifsar i

(1)1
) 2
(3) 3
(4) 4

da o k2 =

1[Option ID=42165] Question Description : general_paper_genarel paper_set 27_english_q17
2[Option ID=42166]
3[Option ID=42167]
4[Option ID=42168]

Sl. No.18
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The Lasswellian model of mass communication is the foundation of media.

1. Causal theory
2. Effects theory
3. Ethical studies
4, Culture analysis

(1) 1

(2) 2

3) 3

(4) 4

SEER & argdtag Alsd FufaRad 7 3 e difsar o1 snur g 2

1. PRUYYH fgid
2. 94T e
3. Jfd® sreEa
+. Ty e
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42169] Question Description : general_paper_genarel paper_set 27_english_q18
2[Option ID=42170]

3[Option ID=42171]
4[Option ID=42172]

Sl. No.19
QBID:27201019

Shannon and Weaver's communication model was not focused on:

A. Message transmission

B. Contents of messages

C. Meanings of messages

D. Intention behind messages
E. Medium of transmission

Choose the correct answer from the options given below :

A.B.Conly
.B. C.D only
3.C.D.E only
4. A.D.E only

@) 1

ko =




) 2
3) 3
(4) 4

g d diak & §dR Hisd Hafaiad 4 ¥ fd iR &isd el 91 2

A. GSR HIROT

B. Ha X &1 sfcas]
C. geur @ 3

D. 4= & Yl B HE
E. S9R0 O1EH

i< fau T fasedl o 9 9l 3Tk BT 99 DI -

1.%dd A, B, C
2.%dd B,C,D
3. $AAC.D,E
4. $Ad A, D,E

11

(2) 2

(3) 3

(4) 4

1[Option ID=42173] Question Description : general_paper_genarel paper_set 27_english_q19
2[Option ID=42174]
3[Option ID=42175]
4[Option ID=42176]

Sl. No.20
QBID:27201020

Given below are two statements :

Statement I : According to Derrida, the effects of communication are subordinate to the effects of writing.
Statement IT : Derrida categorises the effects of language as polysemia and dissemination.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I 1s false but Statement I is true.

1)1
(2) 2
(3) 3
4) 4

I &l Py feu T &

FYF1: SR F 3FUR, TIR & TUE A8 THE F 3 Ea g |
HYF 11 : SRET A YN & quTal i agsridar (aiferaffism ik war § aiffed fear e |
IR FYA o TS H, id [SU U fdmed] H To! IR &1 98- Hiid:

HYFIARNGH A |

HY AR IS AT T |

PUT T I e, AT PUT 1 3T & |
HY I, AT T I 9T ® |
) 1

(2) 2

(3) 3

4) 4

da o k2 =

1[Option ID=42177] Question Description : general_paper_genarel paper_set 27_english_q20
2[Option ID=42178]
3[Option ID=42179]
4[Option ID=42180]
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A man is facing southwards. He turns right and walks 25 meters and again turns right and walks 15 meters. Now he turns left and walks 15
meters and then again turns right and walks 25 meters. Now he turns right again and walks 70 meters. In which direction is the man now
from the starting point?

1. South-West
2. South-East
3. North-West
4. North-East

(1)1

(2) 2

(3) 3

(4) 4

Ud cafda @1 4 1801 [GRT &1 3R § | 98 alig- 3R S 25 Hiex 9adl g IR I &g §3a 15 Hiex gadl ¢ | 34 a8 alg
AR IR 15 Hiex Iadl § 3R U G7: 310 TSP 25 Hiex adl © | 3@ a8 I7: &1 GSPR 70 HIex Iadl ¢ | 3/ I8 ot
RS fig U fpufamma e

1. G701 - 4igy
2. Sféurgg
3. 3R-uigy
4. W44
1
() 2
(3) 3
(@) 4

1[Option ID=42181] Question Description : general_paper_genarel paper_set 27_english_q21
2[Option ID=42182]
3[Option ID=42183]
4[Option ID=42184]

Sl. No.22
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A man 'P' introduces another man 'Q' by saying, "He is the husband of the grand daughter of the father of my
father". How is 'Q’ related to 'P' ?

1. Cousin

2. Brother-in-law
Son
Uncle

L%

a

1)1
(2) 2
3) 3
(4) 4

U A P’ TP GOk e Q* 1 I% Pod gU IR Il 6, “d8 IR U & Uar sl uE #1ufd & 1
“Q T P O 1Y RIT S § 2

1. B (== AHT UTS)
2. SER -1 (SireTT / HIe)
3.9

4

1[Option ID=42185] Question Description : general_paper_genarel paper_set 27_english_q22
2[Option ID=42186]
3[Option ID=42187]
4[Option ID=42188]

Sl. No.23
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What number can replace the question mark (?) in the series given below:
2,4,7,12,21, 38,7

1.67
2.61
3.50
4. 71
1) 1




) 2
3) 3
(4) 4

2 €1 72 dgan T e T (1) B B I e v R 9adi § ¢
2.4.7,12. 21, 38,7

1. 67
2.
3.50

4. 71

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42189] Question Description : general_paper_genarel paper_set 27_english_q23
2[Option ID=42190]

3[Option ID=42191]
4[Option ID=42192]

Sl. No.24
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While pointing towards a girl. Arun says, 'this girl is the daughter of the only child of my father'. What is the relation of Arun's wife with
the girl?

1. Mother-in-law
2. Aunt

3. Mother
4. Sister

(1)1
(2) 2
(3) 3
(4) 4

Wq;ep’i%ﬁsmaw R GU. SV BBl &, “UE TS| 1 U 1 UHHTE HalH B YAl © 1" 30 D1 el b1 58 Asdl & 1Y
I HGY § 2

ESIES]
3fiel
HIcT
EIGl

2 —

g e

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42193] Question Description : general_paper_genarel paper_set 27_english_q24
2[Option ID=42194]

3[Option ID=42195]
4[Option ID=42196]

Sl. No.25
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What will be the average of the set of prime numbers falling between 12 and 427

| I
oy L ko 00

ko bo

b2 =
| S )
Lh Lh Lh Lh

| S

L

(1)1
) 2
3) 3
(4) 4

12 3R 42 & A 3 ATell SHTS (WTSH) Saa1efl & ey &1 39d Hafaiad § S a1 g ¢

. 2825
22.25
2525
2625

2 =

da o

@ 1
() 2




3) 3
4) 4

1[Option ID=42197] Question Description : general_paper_genarel paper_set 27_english_q25
2[Option ID=42198]
3[Option ID=42199]
4[Option ID=42200]

Sl. No.26
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Which logieal fallacy is committed in the following statement - "I do not believe that serial killers ought to be
allowed to live. They have forfeited their right to live because anyone who kills lots of people has lost that
right”.

. Hasty Generalization
. Slippery Slope

. Begging the question
Ad hominem

:L‘..l.ul..)l—'-

1) 1
(2) 2
(3) 3
(4) 4

Fafied Y= B B T ad A § - <1 78 7181 OFa1 § &1 SiRad 8R! &1 Sfifad 38+ 71 91T |
ﬁﬁgﬂﬁiﬁ%ﬁm&mwﬁm%%ﬁaﬁ% 3o AfdTgl Bt 5 HAT ¢ 9 a8
3|f§|a—)—|q |.-.'

1. SHfGaTRT AR
2. T aeH-gad gar
3. 3T QY
4. ofeRt oy & forg (us s1fem)
@1
2) 2
@) 3
) 4

1[Option ID=42201] Question Description : general_paper_genarel paper_set 27_english_q26
2[Option ID=42202]
3[Option ID=42203]
4[Option ID=42204]

Sl. No.27
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"If capital punishment actually deterred people from committing serious crimes, then it would be justified. But
as it does not have that deterrent effect, it is not a justifiable practice”". Which formal fallacy is committed in
the above argument ?

Affirming the consequent
. Undistributed middle

. Existential fallacy

. Denying the antecedent

P Sl

1) 1
(2) 2
(3) 3
(4) 4

“qig g GUS aRdd H il ol THR 3R1Y B § HUIURd Sl gidl, ol I8 Fited gidl | IR Hiie
ISP dg AR UHTa g &, T8 AT IRl =81 ¢ 1 Iuad adb & $I 9 AH1RS ddhgu g »

1. Bodray faur™
2. 3T B
3. IfTARD dhay
4. gqare fFuy
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42205] Question Description : general_paper_genarel paper_set 27_english_q27
2[Option ID=42206]
3[Option ID=42207]
4[Option ID=42208]
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Which of the following statements are logically equivalent ?

A. Some physicists are outstanding professors.

B. Some physicists are not non-outstanding professors.

C. No outstanding professors are physicists.

D. Some non-outstanding professors are not non-physicists.

Choose the correct answer from the options given below :

1.A, Band D only
2. Aand B only
3.Band D only
4. Aand C only

(1) 1

2) 2

3) 3

(4) 4

Fafaiad § 91 4 Sy dlidd ¥4 4 IHg § 2

A T8 HiTPIRE SHP MPR e © |

B. $© USR] TR-3@Y WP AL el § |

C. T 1 IPY MR Hifapured 7S grar s |
D. Y TR-3PF WHR IR-UIHIRA T8I 5l © |

S fermu e 8 S SR ST T S :

1.$ad A, B IR D
2. %dd A R B
3. %adB 3R D
4. HBATA AR C

M 1

() 2

@3) 3

@) 4

1[Option ID=42209] Question Description : general_paper_genarel paper_set 27_english_q28
2[Option ID=42210]
3[Option ID=42211]
4[Option ID=42212]

Sl. No.29
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Which of the following statements are so related that they can not both be true but could both be false?

A. All Biologists are outstanding teachers.

B. Some Biologists are outstanding teachers.

C. No Biologists are outstanding teachers.

D. Some Biologists are not outstanding teachers.

Choose the correct answer from the options given below :

1.B and D only
2. Aand D only
3. Aand C only
4. C and D only

(1) 1

(2) 2

(3) 3

(4) 4




FAfaREd O Y 1H 9 %Y 38 YR YS9 § [ 4 3F1 9d 781 61 98d ¢ U &l 393 B 9% © ?

A i offa fagr Sy Re@ A € |

B. $© Siid [axH1 3PP RGP 8 g |

C. BIg 17t offa fagrt Sopp Rie® Tei slar g
D. $© Sia fagrit Sep ¥ e el eId € |

S fer T e 49 S SR T S :

1. $ad B 3R D

2. FAAAIRD

3. PaAdAARC

4.PaAC3RD

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42213] Question Description : general_paper_genarel paper_set 27_english_q29
2[Option ID=42214]

3[Option ID=42215]
4[Option ID=42216]

Sl. No.30
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According to classical Indian School of Logic (Nyaya) which fallacy is committed in the following statement - "The hill has fire because

it is knowable"?

. Badhita
. Anupsamhari

|

3. Asadharana
4. Sadharana
(1)1
) 2
3) 3
4) 4

o B IRET YR YR () & SER FEREd sy S QI ahev § - e R o Fifs g 3a e

g

. STHTEYROT
4, HIYROT

1)1

) 2

(3) 3

(4) 4

(TSR T —

1[Option ID=42217] Question Description : general_paper_genarel paper_set 27_english_q30
2[Option ID=42218]
3[Option ID=42219]
4[Option ID=42220]

Sl. No.31
QBID:27201031

Given below are two statements:

Statement I : (43.25), = (101011.01),

Statement IT : (1110.111), = (14.625),

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I 1s false but Statement II 1s true.

1) 1
(2) 2
(3) 3
(4) 4




TR HE R E:
BYTI: (43.25), = (101011.01),
BYT I : (1110.111), = (14.625)

IRIF FYF & ATl 1, 9 3 Y f[demed] § Tl IR 1 949 DI

1L HY ARG T T |

2. BYAT SR GFT A § |

3. BUT 1 A B, TP HUT I A E |

4 Y1 ST T, AP PUTNTAE |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=42221] Question Description : general_paper_genarel paper_set 27_english_q31
2[Option ID=42222]

3[Option ID=42223]
4[Option ID=42224]

Sl. No.32
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A keylogger is an example of:

1. Trojan
2. Spyware
3. Worm
4. Logic Bomb
(1) 1
@) 2
3) 3
4) 4

PIANR, {5 SR & TG &1 360§ 2

1. 2o

o

1, T Qg
1

() 2

@) 3

@) 4

L b2

e

1[Option ID=42225] Question Description : general_paper_genarel paper_set 27_english_q32
2[Option ID=42226]
3[Option ID=42227]
4[Option ID=42228]

Sl. No.33
QBID:27201033

Free online encyclopaedia such as Wikipedia contain a huge number of articles. Which of the following
statements about the online encyclopaedia are correct?

A People can search the relevant articles for a topic quickly.
B. The articles have no copyright.
C. These encyclopaedias are updated frequently.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
3.Band C only
4 A BandC

(1) 1

2) 2

3) 3

4) 4




[ TS YD o [ e difsar &yl om 8 og Iia § | oHane- [Ayeie & ded o
FoffadsuwEid s I T e -

A, 91 fopdt fawa & foru urifes oal & e S @ 99d & |

B. Ul B Big PIURISE 761 6116 |

c. 3 fayar gen sse (SR P W E |
=2 feu e o & © O SR o T S :

1. $ad AR B
2. FAAAIRC
3.9au B 3R C
4.AB3RC
1) 1
(2) 2
3) 3
4) 4
1[Option ID=42229] Question Description : general_paper_genarel paper_set 27_english_q33
2[Option ID=42230]

3[Option ID=42231]
4[Option ID=42232]

Sl. No.34
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Match List I with List IT

LIST I (St Devi —
: )‘}Z?]%:j R i LIST II (Description)

(Optical storage media that uses a single spiral track and uses dual laver technology,

A AN L allowing high data storage capacity.

Optical storage media that uses concentric tracks allowing writing and reading to take

B. [ROM I1. :
place at the same time.
C. DVD III. |[Non-volatile semiconductor memory; the contents cannot be changed.
D. IDVDRAM v Volatile semiconductor memory; stores data and instructions the user is currently

working on.

Choose the correct answer from the options given below:

A-IV, B-IIL, C-1, D-II
. A-I, B-II, C-III, D-IV
A-IIL, B-L C-I, D-IV
A-IL, B-IV, C-111, D-1

R PR SR

1) 1
(2) 2
3) 3
(4) 4

Tail 1 1 g1 11 ¥ A Piferg

T 1 (HSROT gie P —

i Je e . |78 TR (e HeRv Hed, S ihd TS ob AR Gl URd drell
= R " [T @1 T Yl 2, 39 S HERY &G $ ST HaH Sl E |

B km 1 |78 TR SRl HifSd1 il ¥l <Pl 1 T Il © SR ol U &l g o
[ ®OM " [eRe Ud UB B AR HeH SRal B |

R EEE] 1L [3gTE S drcd HARY: 9@ | [y g% | URdd- el 1l ol Gabd ¢ |

" _ |orumdt 3rg Irad HART, 39 311 Ud MG &l Hiad ddl o, (o U Udiddl dad |
D. [SS - ¥ Ve sxwrem e | )

i feg T fadedl 3 O U5l 3Tk &1 904 BT -

. A-IV, B-III, C-I, D-II
. A-I, B-II, C-IL, D-IV
. A-IIL, B-TI, C-1, D-IV
. A-II, B-IV, C-III, D-I
1) 1
2) 2
(3) 3
(4) 4

e L b2

1[Option ID=42233] Question Description : general_paper_genarel paper_set 27_english_q34
2[Option ID=42234]




3[Option ID=42235]
4[Option ID=42236]

Sl. No.35
QBID:27201035

Given below are two statements:

Statement I : Sending an email will cause a problem if the recipient is in another time zone where the time
difference is 12 hours.

Statement IT : In an Email system, Bee: stands for Black Carbon Copy.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement II is false.
4. Statement I 1s false but Statement IT is true.

1)1

(2) 2

3) 3

(4) 4

G EAIECRI e

HYF1: TS SHA UIKid| (Bl 30 Y &7 (215H 9iF) H € Oel & §HY 1 3fcR 12 ¢ &1 8, dl a8l
SO Yo 9 95T 3d9 R |

PYTIL : SHT TUTE! H, Bee : BT A OH Hla- ST 8 |

IRIF Y & AT H, 1d [2U Y f[dhed] T Tl IR BT 98- Pieie:

FYHFIARN A 9IS |

HYT IR I EHT A |

HYT I I S, AP PUT I 3T T |
YIS, AT P I IAR |
1) 1

) 2

(3) 3

(4) 4

da Lo B2 =

1[Option ID=42237] Question Description : general_paper_genarel paper_set 27_english_q35
2[Option ID=42238]
3[Option ID=42239]
4[Option ID=42240]

Sl. No.36
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Which of the following air pollutants make rain water acidic ?

A, Nitric oxide (NO)

B. Nitrogen dioxide (NQ,)
C. Nitrous oxide (N,O)

D. Carbon monoxide (CO)
E. Sulphur dioxide (SO,)

Choose the most appropriate answer from the options given below :

1.A B and E only
2.B. Cand D only
3.A, CandE only
4. A, Band C only

1)1

@) 2

(3) 3

(4) 4




afafad O Y19 9 oy Ugue aul o &1 SR §91 § 2

A TiElc®H &WEHTEZS’(NO)
B. TGS STs HIFES (NO,)
C. TZ¢H HATFS (N,0)
D. e AFEES (CO)

E. TR SEATRIES (S0,)

i fGu T 9ot § 9 ¥a8 Iugad STk &1 90 Bifoid -
1. PATA,B IR E
2. %@ B, C3ARD
3. %aA A, C ARE
4. FAAA,BIRC
1
(2) 2
(3) 3
@ a

1[Option ID=42241] Question Description : general_paper_genarel paper_set 27_english_q36
2[Option ID=42242]
3[Option ID=42243]
4[Option ID=42244]

Sl. No.37
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Which among the following are Green House Gases (GHG) ?

A. Surface ozone (O3)
B. Ammonia (NH;)
C. Methane (CH,)

D. Carbon monoxide (CO)
E. Nitrous oxide (N,0O)

Choose the most appropriate answer from the options given below :

1. A, B and C only
2. A, CandE only
3.B.Cand D only
4. C, D and E only

1)1

2) 2

3) 3

4) 4

ot 7 9 W ey TN ©itaeh aH A E

A. UF 3716117 (05)

B. S{HIAT (NH,)

C. 114 (CHy)

D. Plaq AFEHES (CO)
E. T5¢H SHIa5s (N,0)

2 g fawe o © wed SUgE oW &1 99 S :

1. FAAA, B 3R C
2. HAAA, C IR E
3. $dd B, C 3R D
4.%ddC,DIRE

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=42245] Question Description : general_paper_genarel paper_set 27_english_q37
2[Option ID=42246]
3[Option ID=42247]
4[Option ID=42248]
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Given below are two statements:

Statement I : Passive solar systems pump a heat absorbing medium rather than storing heat in stationary
medium.

Statement II : Solar energy can produce high temperatures even in the range of 1000°C or more.
In the light of the above statements, choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I 1s correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.

1) 1
) 2

3) 3

(@) 4

BIEEACICC R

HYF 1 : Spy IR 97 =@ 9o § 1 SRd S & S0 3T G 91999 il ol 0 F3dl § |
BYA 11 : IR Foll JgT dd (& 1000° ¢ AT 3TY 3if¥e AT 9% 3= dIHH 347 B JHdl ol

TWRIK] DY & 3felis H, i 4T T fadhedl & Yad Fugad Itk B 99 DIE:

PYFI IR TSI TSI E |
HYFTIAR I TAd© |
HYF el 8. AT YT I Tad ¢ |
HYF A &, AfbT FUT I T8I ¢ |

1)1
) 2
(3) 3
(4) 4

b3 =

S )

e L b2

1[Option ID=42249] Question Description : general_paper_genarel paper_set 27_english_q38
2[Option ID=42250]
3[Option ID=42251]
4[Option ID=42252]
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Sick Building Syndrome (SBS) is associated with

1. Outdoor Air Quality
2. Indoor Air Quality
3. Water Quality

4, E-waste

(1) 1

(2) 2

3) 3

4) 4

70 o Goew (e AT Righy - wodivy) e d Ao e 2 2
 STEl (MICSR) arg TUra]

1
2. AT (3SR aTg TUraH
3. O - T0Ta
4.3 - 3ufaw
1 1

) 2

3) 3

) 4

1[Option ID=42253] Question Description : general_paper_genarel paper_set 27_english_q39
2[Option ID=42254]
3[Option ID=42255]
4[Option ID=42256]
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BOD (Biochemical Oxygen Demand) is the measure of :

1. air pollution
2. water contamination
3. soil contamination
4. dissolved oxygen of river water
1 1
(2) 2
(3) 3
(4) 4

&t 301 St (SRR sifeiioH T 3 Fafafad O 9 fege! o Bl o ¢ 2

1. dig YaHOT
2. S7d UgHul
3. eI agHol
4. 711 ol H fqafde sifaite
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=42257] Question Description : general_paper_genarel paper_set 27_english_q40
2[Option ID=42258]

3[Option ID=42259]
4[Option ID=42260]

Sl. No.41
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The famous grammarian Panini had his education at :

1. Takshashila
2. Pataliputra
3. Nalanda
4, Sridhanya Katak
(1) 1
(2) 2
3) 3
(4) 4

UiRTes: carebruIfdg grfort = Faiferd food i o= fRian agu &t of 2

1. d&ffRrer
2. greferga
3. FIciaT
4. JiYTg DD
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=42261] Question Description : general_paper_genarel paper_set 27_english_q41
2[Option ID=42262]

3[Option ID=42263]
4[Option ID=42264]

Sl. No.42
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The NCTE, established in 1995, isa

1. Statutory body

2. Professional organization
3. Teachers' association

4, Private organization




1005 g ua €t &t s Fofafga g a s g »

1[Option ID=42265] Question Description : general_paper_genarel paper_set 27_english_q42
2[Option ID=42266]
3[Option ID=42267]
4[Option ID=42268]

Sl. No.43
QBID:27201043

As per NEP 2020, consider the following two statements :

Statement I : The second vertical of Higher Education Commission of India will be a 'meta accrediting body’,
called National Accreditation Council (NAC)

Statement IT : In the long run, it is envisaged that accreditation will become a binary process, as per extant
global practice.

In the light of the above statements, choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false,
4. Statement I is false but Statement I is true.

(1) 1

(2) 2

(3) 3

(4) 4

T4t e =ifa (@A, 5. 1) 2020 F AR FERTRET $9F R AR S

HYF1 : AP UATIH UREE (T T HY) & 1 3 S O aTell, YR & 3= [RI& S o1 feedta 2y
% A-yaadl ™ 8 |

FYF L : SUBTdA § g5 Hed=1 &1 Tl ¢ [ gaqH diys s0awdl & S8R, YT U@ (g R [@rs-R)
wigsar &9 S|

IURIF DY D 3{Tdid H, Aild 4T U fdhedl T T8l 3R &1 994 DI

HYFIARIEH TR |

HYT ISR A SR |

FYH IS, AT YT I T |
HYF A Q. AT HUT I A |
(1) 1

(2) 2

(3) 3

(4) 4

2 =

e W 2

1[Option ID=42269] Question Description : general_paper_genarel paper_set 27_english_q43
2[Option ID=42270]
3[Option ID=42271]
4[Option ID=42272]
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Which of the following are the grounds on which discrimination of citizens for admission to educational
institutions in India is constitutionally prohibited?

A. Religion and Race

B. Sex and Place of birth
C. Nationality and Colour
D. Age and Nativity

Choose the correct answer from the options given below:

1.LA.B.Cand D
2. Aand B only
3.A BandConly
4. C and D only

1)1

(2) 2

3) 3

(4) 4

FAaREd ¥ 93 $H-U SHUR € [9d S1UR IR YR 1 Q&0 SR 1§ Ua og AR & 91y
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National Board of Accreditation (NBA) is entrusted with ensuring quality assurance in the disciplines of

A. Humanities

B. Architecture

C. Engineering and Technology
D. Natural Sciences

E. Management

Choose the correct answer from the options given below :

1.A, C.Dand E only
2.B, Cand E only
3.B.C.,DandE only
4.C,D and E only

1 1

(2) 2

3) 3

(4) 4
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A. THdD!

B. R (AP )

C. Sforfast iR et
D. Uil fagm

E. WY
=1 fau ¢ fadeul & ¥ Tl IR &1 98- Diforg ;

1.$AAA, C, D3R E
2. %adAB, C ARE
3.%4ddB,C.D.E
4.HaAC, D IRE
(1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad v o ud SR uy &1 S i

RS 49, d &7, [ Jm1ial uR FE= T a1 37T gare S B4 6. SR U &, SS9 A
@xgaih P oy 9 SR ¥ SIS R &, fawr daeh sy ot fufa & €, iR 9% sy dvad
g‘?dﬁﬂﬁﬁ JoTR U1, 94 [Aihaia M HIid o1 SR 9kas- Ud G9R &1 aFTd agd S=IaR 21 | 3 g

AR @ fAfRiydl & BRI, IR Swresiead gaiazur, Jdror &8 &1 ger 3, FRISRUT R
SHERNH & Ui 0 G810 8id ¢ | $O ALATH &1 AT § [ Ta-T8RT 3BIHT o Wb icas]
&7l & FarTeRul ¥ [aHm et SHws & U Te@yul Y1 &1 $RU 8 YId ¢ |

dfes HMes $R® TUl HeF! 8] <211 Gobd, difd tegaH &7 & Hidw 3= & safds fAfimdrg |
afe &9, aRad §, 99 faiwaradl aret &4 fawRia 3 #1 g s i g9 U § o o g=if A
S F9 ¥ 3! fuf Ui &1 5, Taie 30 3% dfY® PHOR W@ ¢ |

et fd 321 @1 Saarg SR Wi SHE [AHN B SHTHR &d 8, d U1 39S A, Tl dxa-1aii,
ST 3R =i IR UHTE SR PR ¢ |

Given below are two statements:

Statement I : Tropical regions seem to have more favourable conditions for the growth of industrialization
than the temperate regions.

Statement II : Geographic factors alone determine the development of a nation.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.

3. Statement I is true but Statement II is false,

4, Statement I 1s false but Statement I 1s true.
1) 1




) 2
3) 3
(4) 4
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Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itselfl

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad Y @1 ud SR uy &1 S i

T <91, 3 &7, ford diaifeat 1R o= U a1 31 s A1 Bied §, AR U &7, §l 397 A
@) & oy T SR ¥ SIS X 8, foo daeh sy &t fufa & ., SR 9% eramy Svad
\g‘?nﬁﬂﬁﬁ goTR U1, 94 (Al 3 Hid o1 SR 9Rkas Ud TR &1 aFTd a5d S=ar 2f | 3y

AR B ARwd & SR, [IRveR Swdiead gaiarur, Jdror &7 @1 gaqr H, FRISR iR
SHTERTBU & Ui 0 G510 8id ¢ | $O AL BT AT § [ Ta-T8RT 31T o SWTbicas]
&7l & FareRul d [aHm et SHwa & U Te@yul Y1 &1 $RU 8 YId ¢ |

Ao eI FRe uul T el 521 Gohd, Fifd THgaE 831 & a3 1 ofafas fafimarg |
afe &9, aRad §, 99 fasiwaradl aret &4 faewRia 3 #I g s i g9 U § f o a=if A
SIS ¥9 ¥ 3! Rl urd @1 g, Fafe 30 3% 3dYe HOR W@ 6 |

et frd 321 @1 Taary SR W 8@ [AHN B SHTHR &d 8, d U 39S A, JEifrs da-1sii,
oI 3R =ifqd R UHTE SR PR ¢ |

Climate and geography of a place greatly influence its:

A, Policies
B. People
C. Politics
D. Social structures

Choose the correct answer from the options given below:

1. A, B and C only
2.B.Cand D only
3.A,BandD only
4, A.B.CandD




) 2
3) 3
(4) 4
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Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars asecribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfefad Y o ue 3R Uy &1 3R Sifon :

TG 291, 3 &7, o dimifal o= o= e o1 3991 sa SR Hied §, AR U &7, 9 394 17
(@&g3fh & o g IRl § St oR §, o deeht sremy &1 Rl o €, STk 98 sy dvad
dadi BId § goar U1, o1d Fded g T Wiitd o1 3R URas- Ud §9R &1 arTd dgd S=aaR of | 3
%Wﬁ%&@m%ww, gL I cad Taiarur, Wdror &7 &I a1 J, TR 3R
SRt F Ui &0 TR B © | $o S o1 I © & 99-98RT i o Surseath

&7l & Farexvl 1 [Gor et Seia & U He@yul I 1 $RU WY T ¢ |

&1 i wRe Guf Fer T G goa, Fifs vHgnT 831 & iR 321§ sl faftmar g |
afg g7, aRad &, 9°H faRryarsi arel &1 faeRid G2 &1 T S Al gH UId § [ T o=l A
ST 9§ S UM W &1 &, Safdh = 4x7 A HHOIR B 6 |

Safos [l 331 1 Faary SR 17T U TP B SDR &d o, d U 3T A, FHIrD A=-131,
T iR e R 9y SR PRA @ |

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The developmental disadvantage of landlocked countries was far greater in earlier times,
Reason R : Transportation and communication costs in earlier times were much higher.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct but R is not the correct explanation of A.
3. A1z correct but R iz not correct.

4. A is not correct but R is correct.




1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probably greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itselfl

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad Y @1 ud SR uy &1 S i

T o1, 3 &7, ford diafeat uR HE=0 U a1 31 s S Bied §, AR U &7, 5l 397 A1
@) & oy T SR ¥ SIS X 8, foo daeh sy &t fufa & ., SR 9% eramy Svad
\g‘?nﬁﬂﬁﬁ goTR U1, 94 (Al 3 Hid o1 SR 9Rkas Ud TR &1 aFTd a5d S=ar 2f | 3y

AR B ARwd & SR, [IRveR Swdiead gaiarur, Jdror &7 @1 gaqr H, FRISR iR
SHTERTBU & Ui 0 G510 8id ¢ | $O AL BT AT § [ Ta-T8RT 31T o SWTbicas]
&7l & FareRul d [aHm et SHwa & U Te@yul Y1 &1 $RU 8 YId ¢ |

Ao eI FRe uul T el 521 Gohd, Fifd THgaE 831 & a3 1 ofafas fafimarg |
afe &9, aRad §, 99 fasiwaradl aret &4 faewRia 3 #I g s i g9 U § f o a=if A
SIS ¥9 ¥ 3! Rl urd @1 g, Fafe 30 3% 3dYe HOR W@ 6 |

et frd 321 @1 Taary SR W 8@ [AHN B SHTHR &d 8, d U 39S A, JEifrs da-1sii,
oI 3R =ifqd R UHTE SR PR ¢ |

Given below are two statements:

Statement I : All countries in the tropical region have performed very poorly in terms of development.
Statement IT : Tropical regions seem to have disease prone environments.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

2. Both Statement I and Statement II are false.

3. Statement I 1s true but Statement II is false.

4, Statement I is false but Statement II is true.
1) 1




) 2
3) 3
(4) 4
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Read the following passage and answer the question :

Landlocked countries, regions with diseases that are difficult to control or cure, and areas that are very far
from major markets for their goods are all at a developmental disadvantage - and this disadvantage was
probahly greater in an earlier era, when medical knowledge was limited and transportation and
communications costs were much higher. By virtue of weather and disease, tropical environments in particular
may be less conducive to urbanization and industrialization than temperate zones. Some scholars ascribe a
substantial portion of the developmental problems of tropical regions like sub-Saharan Africa, for example, to
geography itself.

But geographic factors cannot be the whole story, as there is a great deal of variation among countries within
the same regions. Indeed, if we compare less developed countries - that have very similar geographic
characteristics, we find that some have done extremely well, while others have done very poorly. While the
climate and geography of a nation shape its development, they do so by way of their impact on the people,
social structures, politics, and policies of the nation.

fgfafad v @ ud SR vy @1 S i

TS o9, 3 &7, o dimfeal ur o= umn o1 ST s S $ied §, AR U &7, O 39- 71|
([@Egeih & e vgE SNRT ¥ 3fdAfts o B, [dem dadh sramy @1 Rufa § 8, oik g8 i@y dvad
BT & goTR Y1, 5 fAitg 17 HTHd o7 3R TRag (9 99K @1 aFTd 9gd SR of | JF
AR B AfRyd & BRI, [GRveR S gaiarur, 2drer 89 S gaqr d, FRISR ik
SHIETHRUT & Uit 1 G610 8id & | PO AL BT AT § [ T6-TGRI 3BT ol SWTbica]
&7l & FareRul 1 (g et Srea & U He@yqul YI &1 SR WY Ja ¢ |

dfes HMifas SRS Tuf HeF! A8l Sui gabd, ifd tegaH &3 & Hidax 39 § srafis fafigdrg |
afe g1, aa §, 991 forsroansit aret B fasfa S Ft qE s dl sn U € 5 po 3w A
SIS F9 ¥ =t fufd urd @1 g, 9afe 30 34X dYe HER W@ 6 |

et frdl 331 1 Taary SR 7T SHd [AHN B SATHR &d o, d U1 39% A, Ao da-1sii,
oI 3R Hifaa! R yye SEaR dRd ¢ |

Which of the following places are at a developmental disadvantage ?

A. Landlocked countries
B. Regions with dizeases that are easy to control or cure,
C. Places that are far from major markets for their goods.

Choose the most appropriate answer from the options given below :

1. Aand B only
2.B and C only
Aand C only
A Band C
1)1

2) 2

3) 3
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Paper II : 59-Library and Information Science
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is a non-profit organization that enables the sharing and use of creativity and knowledge through free
legal tools.

1. Creative Commons
2. Sherpa
3. Websites creation
4, Derivative Creation
1) 1
() 2
3) 3
) 4

Ueh TR-ATHBRI Hi13- B, Sl (:Yeeh fafered IUDRUT o HIeAH J Hrdl R, Goiitadl 3 1+
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1) 1
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(3) 3
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Who said "Where is the information lost in data, knowledge lost in information and wisdom lost in knowledge"?

1. Richard Smiraglia
2. Ackoff Russel

3. Allan Frost

4. T.S. Eliot

) 1
) 2




